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IIFT 2006 Set B (Quant)

Section I (Part I)

Direction for Question 1 to 13: Read the information carefully and answer the questions:

1. Vijay has been invited for dinner in a club. While walking through the garden path towards the club,
he observe that there is an electric rod on the top of the building. From the point where he is

standing, the angles of elevation of the top of the electric rod and the top of the building are φ  and
θ respectively. If the heights of the electric rod and the building are p and q respectively, mark all the
correct statements.

a. The height of the tower is 
p tan

tan tan
θ

φ θ−

b The height of the electric rod is ( )
q tan

tan tan
θ

θ φ−

c. The height of the tower is 
p tan

tan tan
φ

θ φ−

d. The height of the electric rod is 
( )q tan tan

tan

−φ θ
θ

2. If the sum of the roots of the quadratic equation px2 + qx + r = 0 is equal to the sum of the squares
of their reciprocals, mark all the correct statements.
a. r/p, p/q and q/r are in A. P. b. p/ r, q/p and r/q are in G. P.
c. p/r, q/p and r/q are in H. P. d. p/r, q/p and r/q are in A. P.

3. The area of an isosceles triangle is 12 sq. cm. If one of the equal sides is 5 cm long, mark all the
options which can give the length of the base.
a. 4 cm b. 6 cm c. 8 cm d. 9 cm

4. A trader forms a mixture of cement and sand weighing 40 kgs. In the mixture, cement and sand are
in the ratio of 4 : 1 in weight  terms. Later, when he adds more sand to the mixture, the new ratio
becomes 4 : 3. Given this, mark all the correct statements.
a. The second mixture formed is one and a half times heavier than the original mixture.
b. In  order to arrive at the second mixture, the trader had to add a quantity of sand weighing 16 kg.
c. Had the original mixture been in the ratio of 8 : 3, the weight of the sand in the original mixture

would have been 12 kg.
d. If the trader sells 7 kg of the second mixture formed by him, and adds 11 kg of a new mixture of

cement and sand in the ratio 7 : 4 to the residual, then the new ratio of cement to sand will
become 7 : 5.
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5. Ankit is appearing in an entrance examination for a professional course. In the General Knowledge
section, the students are asked to match certain years in which the soccer world cup was held with
the name of the champion team in that particular year. The information given was as follows:

Champion Year

West Germany 1966

Italy 1982

France 1990

England 1998

Now, Ankit not being a football fan, does the matching randomly. If X denotes the number of correct
answer his random matching generates, mark all the correct probabilities.

a. ( ) 5
P X 1

8
≥ = b. ( ) 1

P X 1
4

= = c. P (x = 3) = 0 d. ( ) 1
P X 4

24
= =

6. Joshi has purchased a small shop in a city by paying an amount of Rs. 20,000. He decides to
decorate the shop before starting business for which he spends Rs. 8,000 in the first month and Rs.
2,000 in the next month. However, at the beginning of the third month, he gets a good offer from
Wadhwa and sells she shop to him at a profit of 20 percent. Wadhwa shortly afterwards decides
that he will be better off by doing business in another location and decides to sell the shop back to
Joshi. Given this, mark all the correct options.
a. If Wadhawa loses a total of Rs. 7,200, his loss is not more than 20%.
b. If Joshi had originally purchased the shop at Rs. 14,000, then by selling the shop to Wadhwa at

the same price, he could have made a profit of 50%.
c. If Joshi had sold the shop to Wadhwa at a profit of 40%, his monetary gain would have been Rs.

12,000.
d. If Joshi had sold the shop to Wadhwa at a profit of 40%, and Wadhwa sold the shop back to him

at a loss of 40%, then Joshi would  have acquired the shop with a net investment of Rs. 13,200.

7. If 
log x log y log z

,
b c c a a b

= =
− − −  mark all the correct options

a. xyz = 1 b. xa yb zc = 1 c. xb+c yc+a za+b = 1 d. xb + c yc+a za+b = 0

8. In a pizza stall, Ajay and Mohan, being the lucky customers, were given the option of drawing
tickets from a pot containing x number of tickets for the knife-throwing show and y number of tickets
for the talking-doll show. Both Ajay and Mohan being excited about the knife-throwing show, start
drawing tickets from the pot until they get one for the show, replacing any drawn ticket for the
talking-doll show in the pot. Ajay draws the ticket first, followed by Mohan.Given this, mark all the
correct options.
a. If the probability of Ajay first getting a ticket for the knife-throwing show is four times that for

Mohan, the ratio between x and y is 3 : 1
b. If the probability of Ajay first getting a ticket for the knife-throwing show is five times that for

Mohan, the ratio between y and x is 1 : 4
c. If the probability of Ajay first getting a ticket for the knife-throwing show is two times that for

Mohan, the ratio between x and y is 1 : 1
d. If the probability of Mohan first getting a ticket for the knife-throwing show is six times that for

Ajay, the ratio between x and y is 5 : 1
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9. Madan is going from Mumbai to Dehi in order to join a new job there. He has a glass memento of
right circular conic shape under his possession and he does not want it to break during transporta-
tion. So, he purchases a cubic metal box from the market spending Rs. 500. The cone is exactly
fitted in the metal cube in such a way that while the edges of the base of the cone are touching the
edges of all the sides of the cube, the vertex of it touches the opposite face of he cube. After
inserting the memento in the box,  he packed the metal box from outside with wallpaper costing

Rs. 1.5 per sq cm. Given that the volume of the glass memento is 2718 cc,
3

 mark all the correct

statements.
a. Madan had incurred total expenditure of Rs. 2,264 on the metal box.
b. Madan had incurred an expenditure of Rs. 1,754 on packing the metal box.
c. The area of any one side of the metal box is 196 sq. cm
d. The volume of the metal box is 2,644 cc.

10. Ranjan goes to a countryside lake for a boat ride. Standing at the ferry counter, he looked at the
opposite bank and observed a tall tower on a hill downstream, the angle of elevation being 45°.
Ranjan comes to  know from the bystanders that the tower is a historical ruin and decides to visit it.
The boat takes him directly to the opposite bank, from where the angle of elevation to the top of the
tower becomes 60°. While exploring the site, he comes to know that the combined height of he
tower and the hill is 300 m. If the speed of the boat by which Ranjan travelled was 2 km/hr in still
waters, mark all the correct observations.

a. It took Ranjan 3 6  minutes to cross the lake by the boat.

b. The breadth of the lake is 100 6 m .

c. It took A. Ranjan 4 3  minutes to cross the lake by the boat.
d. If the combined height of the hill and the tower was 450 m and the speed of the boat was 1 km/

hr (the angles of elevation remaining unchanged), the time taken by Ranjan to cross the lake by

boat would have been 9 6  minutes.

11. Sunil goes to small city in Europe on vacation, where he enjoys walking  along the streets in the
afternoon. He observes that there are 6 parallel roads running East - West and 5 parallel roads
running North-South in the city. In order to observe the landmarks in the city, he takes different
routes every time he goes out. He also observed that the distance between every consecutive pair
of roads is equal. Given this, mark all the correct options.
a. The number of shortest possible routes that Sunil can take to travel from one corner of the city

to the other diagonal end is 126.
b. The total number of possible routes that Sunil can take to travel from one corner of the city to the

other diagonal end is 196.
c. The number of rectangles that can be formed with their sides along the roads is 150.
d. If the number of parallel roads running East-West and North - South increase by one each, the

number of shortest possible routes that Sunil can take to travel from one corner of the city to the
other diagonal end would go up by 336.
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12. Laxman and Bharat decide to go from Agra to Delhi for watching a cricket match and board two
different trains for that purpose. While Laxman takes the first train that leaves for Delhi, Bharat
decides to wait for some time and take a faster train. On the way, Laxman sitting by the window-
seat noticed that the train boarded by Bharat crossed him in 12 seconds. Now the faster train can
travel 180 km in three hours, while the slower train takes twice as much time to do it. Given this,
mark all the correct options.
a. If the faster train has taken 30 seconds to cross the entire length of the slower train, the differ-

ence between the lengths of the two trains is 50 m.
b. If the faster train had been running twice as much faster, it would have taken 10 seconds to

overtake the slower train.
c. Had the faster train taken 24 seconds to cross the entire length of the slower train, the length of

the slower train would have been 100 m.
d. If the slower train had been running at one and a half times of its current speed, the faster train

would have taken 24 seconds to overtake Laxman.

13. A contractor takes up an assignment that 20 men can complete in 10 days. The same assignment
could be finished by 15 women in 20 days. The contractor decides to employ 10 men and 10 women
for the project. Given this, mark all the correct options.
a. If the wage rate for men and women are Rs. 50 and Rs. 45 respectively, the total wage bill for the

project will be Rs. 11,400.
b. If the wage rate for men and women are Rs. 45 and Rs. 40 respectively, the total wage bill for the

project will be Rs. 10,200.
c. If the wage rate for men and women are equal at Rs. 40, the total wage bill for the project will be

Rs. 9,100.
d. If the contractor decides to employ 20 men and 30 women for the project and the wage rate for

men and women are Rs. 40 and Rs. 35 respectively, the total wage bill for the project will be Rs.
9,250.
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SECTION I (Part II)

Direction for Question 14 to 30: Read the information carefully and answer the questions.

14. In the right-angled triangle QPR given below, PS is the altitude to the hypotenuse. The figure is
followed by three possible inferences.

S

R
P

Q

I. Triangle PQS and Triangle RPS are similar.
II  Triangle PSQ and Triangle RSP are congruent.
III Triangle PSQ and Triangle RPQ are similar.
Mark the correct option
a. I and II are correct b. I and III are incorrect
c. Only III is correct d. All three are correct

15. The inverse of the sum of the following series up to n terms can be written as 
3 5 7

.....
4 36 144

+ + +

a. 
( )2

2

n 1

n 2n

−

+
b. ( )

2

2
n 2n

n 1

+

− c. ( )

2

2
n 2n

n 1

+

+ d. 
( )2

2

n 1

n 2n

+

+

16. The square root of the harmonic mean of the roots of the equation

( ) ( )25 2 x 4 5 x 8 2 5 0+ − + + + =  is.

a. ± 3 b. ± 4 c. 2 d. None of these

17. If α ≠ n π and tan α is the GM of sin α and cos α, determine the square of the expression
          2 – 4 sin2 α + 3 sin4 α – sin6 α.

a. 1 b. 4 c. 
1
4

d. None of these
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18. Which of the following is obtained after rationalization of the expression ( )
1

5 6 11+ +

a. 
5 6 6 5 330

60
+ −

b. 
6 5 5 6 330

30
− −

c. 
5 6 6 5 330

60
+ +

d. 
6 5 5 6 330

60
+ −

19. If one root is the square of the other root in the equation x2 + px + q = 0, mark the correct relationship
in the following options.
a. p3 – q (3p + 1) + q2 = 0 b. p3 – q (3p – 1) + q2 = 0
c. p3 + q (3p – 1) + q2 = 0 d. p3 – q (3p – 1) – q2 = 0

20. If α, β are the roots of the quadratic equation x2 + mx + 1 = 0 and γ, δ are the roots of the equation
x2 + nx + 1 = 0, then the value (α – γ) (β – γ) (α + δ) (β + δ) is equal to
a. n2 – m2. b. m2 – n2. c. 2 m2 – n2. d. None of the above

21. A wire, if bent into a square, enclose an area of 484 cm2. This wire is cut into two pieces; with the
bigger piece having a length three-fourth of the original wire’s length. Now, if a circle and a square are
formed with the bigger and the smaller piece respectively, what should be the area enclosed by the
two pieces?
a. 464cm2 b. 544.25 cm2 c. 376.75 cm2 d. 424.25cm2.

22. Find the solution set of the shaded region in the diagram below
y

(4 /3, 0 )
x(5 , 0 )

(0 , 5 /2 )

(0 , 4 )

a. 3x y 4, x 5y 5, x 0, y 0+ ≤ + ≤ ≥ ≥ b. x y 3, x 4y 5, x 0, y 0+ ≤ + ≤ ≥ ≥

c. 3x y 4, x 2y 5, x 0, y 0+ ≤ + ≤ ≥ ≥ d. 3x 2y 2, x 2y 5, x 0, y 0+ ≤ + ≤ ≥ ≥

23. Pavan builds an overhead tank in his house, which has three taps attached to it. While the first tap
can fill the tank in 12 hours, the second one takes one and a half times more than the first one to fill
it completely. A third tap is attached to the tank which empties it in 36 hours. Now one day, in order
to fill the tank, Pavan opens the first tap and after two hours opens the second tap as well. However;
at the end of the sixth hour, he realizes that the third tap has been kept open right from he beginning
and promptly closes it. What will be the total time required to fill the tank?
a. 8 hours 48 minutes b. 9 hours 12 minutes
c. 9 hours 36 minutes d. 8 hours 30 minutes
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24. The domain of definition of the function ( ){ }10

1
y x 7

log 3 x
= + +

− is

a. [ ) { }7, 3 0− : b. { }[ 7, 3] 0− : c. ( ) { }7, 3 0− : d. ( ] { }7, 3 0− :

25. a and b are two vectors and the angle between a and b is θ. If (a + 3b). (7a – 5b) = 0 and
         (a – 4 b). (7a – 2b) = 0, then the value of tan θ is

a. 3 b. 1 c. 
1

3
d. None of the above

26. Three business entities X Ltd, Y Ltd. and  Z Ltd, with 4, 3 and 5 employees respectively, merged into
XYZ Ltd in order to jointly raise the capital for setting up a new modern production plant in Jaipur.
After two years, on the question of management decisions on the new venture at Jaipur, the employ-
ees started adopting differing viewpoints and began to quarrel among themselves. Given the fact
that there is not quarrel among the employees of the erstwhile X Ltd, Y Ltd and Z Ltd, what could be
the maximum number of quarrels that can take place within XYZ Ltd?
a. 31 b. 53 c. 47 d. 41

27. If sinα + sinβ = a, cosα + cosβ = b, tan * tan c
2 2

    =      
α β

, and a ≠ b ≠ c ≠ 0, c ≠ 1, 
1 c
1 c

−
+  is equal to

a. 2 2
b

a b+ b. 2 2
2a

a b+ c. 2 2
2b

a b+ d. 2 2
a

a b+

28. If a sin –1 x – b cos–1 x = c, then find the value of 
1 1a b

sin x cos x
b a

− −+ (Assume –1 ≤  x ≤  1).

a. 0 b.
π
4

c. 
( )ab 2c a b

2ab

π + −
d. 

( )ab 2c b a

2ab

π + −

29. If 
2 sin 1 cos sin

k, then
1 sin cos 1 sin

θ θ θ
θ θ θ

− +=
+ + +  is equal to

a. k b. k + 1 c. 
1
k

d. None of the above

30. Amit, Sumit and Pramit go to a seaside town to spend a vacation there and on the first day every-
body decides to visit different tourist locations. After breakfast, each of them boards a different
tourist vehicle from the nearest bus-depot.After three hours,Sumit who had gone to a famous beach,
calls on the mobile of Pramit and claims that he has observed a shark in the waters. Pramit learns
from the local guide that at that time of the year, only eight sea-creatures (including a shark) are
observable and the probability of observing any creature is equal. However, Amit and Pramit later
recall during their discussion that Sumit has a reputation for not telling the truth five out of six times.
What is the probability that Sumit actually observed a shark in the waters?

a. 
1

36
b. 

1
30

c. 
5
36

d. 
1

24



Directions for questions no 31 to 37: Mark all the options A...d of List 1 that have corresponding matches
anywhere (not necessarily in the same row) in each of the other lists (List II, List III and List IV)

31. I

A. Kumar
Steel Sahitya Parishad Award SUN TV

Mamglam Birla

Voice and radio Ernt & Young Enterpreneur
B. I. G Patel Bajaj Auto

products Award 2005

Aluminium & NDTV Automobiles Man of
C. Pawan Munjal

Copper theYear

List List II List III List IV

RBI
2005

Policy CNBC Business Excellence
D. Kalanithi Maran Grasim

Formulation Award 2005

32. I

A. Padmasree Integrated
Sahitya Parishad Award Maruti

Warrior Communications Solutions

B. Rana Kapoo IGNIS Chennai Motoraola

C. Jagdish Integrated Business
Farady Medal Wipro

Khattar Solutions

D. Azim Pr

List List II List III List IV

Start Up Enterpreneur
emji Rabobank YES Bank

Award 2005

−

33. I

A. Namibia Textiles Copenhagen Dollar

B. Norway Diamonds Abuja Dinar

C. New Zeland Oil Windhoek Naira

D. Nigeria Dairy Pr oducts Melbourne Kroner

List List II List III List IV

IIFT 2006 Set B (GK)

Section II



34. I

A. Sir Walter The life ofNaolean
Rip Wan Winkle Russia

Scot t Bonaparte

B. Cervantes Ivanhoe Noveleas Ejmplares Scot land

C. Washington
Dr Zhivago My sister life New York

Irving

D. Boris
Don Quixote S

Pasternak

−

List List II List III List IV

tratford on Avon Spain− −

35. I

A. L. N. Mittal Berkshire Hathway Inc Slovakia Steel

B. Warren Bill & Melindia Gates
Microsoft Paris

Buffet Foundation

C. Bill Gates ISAT International Omaha Har var d University

D. JRD Tata Air India Gopalur SE

List List II List III List IV

Z Severstal

36. I

A. Infosys Hyderabad Computer software Nandan Nilekani

B. Tata Steel Kolkata Finished Steel Sanjay. S. Lalbhai

C. Escorts Steel Faridabad Tractors Rajan Nanda

D. Arvind Mills Pune Textiles B. Muthuraman

List List II List III List IV

37. I

A. Dr. Reddy 's Pfizer Generic drugs Italy

B. Tata Eight O'Clock Razor Germany

C. Holcim L & T Textiles US

D. Johnson & Johnson Betapharm Cement Indian

List List II List III List IV











































Direction for Question 97 - 100: The graphs below give vote share and distribution of seats of different
parties in election years during the period 1996-2002. Study the graphs and answer the questions, taking
into account the following:
i. Independents may be considered as a separate party
ii. Unless otherwise stated, all changes, jumps, gains or losses should be calculated over the imme-

diately preceding election year
iii. For forming government, the party / alliance should obtain majority seats (more than 50%)

Vote Share - 1996

Liberals, 1.97
Labour, 28.8

Republican, 
6.12

Independents, 
42.82

Democrats, 
20.29

Vote Share - 1998

Liberals, 1.75 Labour, 25.82

Republican, 
5.16

Democrats, 
25.69

Independents, 
41.58

Vote Share - 2000

Democrats, 
23.75

Independents, 
41.07

Republican,  
5.4

Liberals,  
1.48

Labour,  
28.3

Vote Share - 2002

Labour, 
26.53

Liberals, 
1.41

Republican, 
5.66

Independents 
44.24

Democrats, 
22.16



Distribution of Seats - 1996 
Total No. of Seats = 510

29.61%

2.16%

5.88%

25.88%

36.47%

Democrats

Liberals

Republican

Labour

Independents 

Distribution o f Seats - 1998
Total No. of Seats = 570

33.33%

1.75%

5.96%

25.96%

32.98%

Democrats

Liberals

Republican

Labour

Independents 

Distribution of Seats - 2000
Total No. of Seats = 501

33.53%

0.8%

6%

20.92%

38.72%

Democrats

Liberals

Republican

Labour

Independents 



Distribu tion o f Seats - 2002 
Total No o f Seats = 620

25.48%

1.77%

7.90%

26.61%

38.23%

Democrats

Liberals

Republican

Labour

Independents 

97. Mark all the correct statements
A. Democrats and Labour together improved their vote share by a larger margin in 1998 over 1996

as compared to the one in 2002 over 1996.
B. The number of seats lost by Democrats in 2002 elections was less than the number of seats

gained by Republicans in the same year.
C. In 2002, the Independents gained the most both in terms of vote share and number of seats

obtained.
D. If 70% of Independents had joined Labour, they could have formed government in 2002 but not in

1996.

98. Mark all the incorrect statements
A. In 2002, the percent increase in the number of seats of Liberals and Labour together over 1998

was more than 5 time increase in the vote share obtained by these parties during the same
period.

B. In the 2000 elections, in terms of vote share, Labour was the major beneficiary of Democrat’s
loss.

C. In terms of vote share, it was in the 2000 elections that most number of parties faced a decline
in their individual vote shares.

D. The highest jump in the percentage of seats obtained by any party in any election year over the
immediately preceding election year has been smaller than the highest jump in the vote share of
any party in any election year.



99. Mark all the correct statements
A. In terms of vote share, Labour and Liberal parties taken together lost 3.2 percent in 1998 but

gained a total of 16 seats in the same period.
B. Democrats, Republicans and 35% of the Independents could have formed the government in two

election years.
C. No. party increased its vote share in every succeeding election.
D. In the 2000 elections, as compared to the 1996 elections, Republicans and Democrats taken

together, gained more in terms of vote share than in terms of percentage of seats.

100. Mark all the incorrect statements
A. In the year 2002, in terms of percentage of seats obtained, Democrats and Labour together lost

the maximum.
B. Liberals and Republicans taken together lost both in terms of vote share and the number of

seats obtained in the year 2000.
C. In the 2000 elections, all parties lost in terms of number of seats.
D. The highest gain in the number of seats for Labour was in the year 2002.

Directions for questions no. 101 and 102:  The graphs below relate to export and import rates for dix
regions for the peirod 1997-2003. Study the graphs and answer the questions.
Annual percentage change in world merchandisc trade by region, 1996-03 Exports and Imports.

North America
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Latin America
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Central and Estern Europe
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Africa

1.6
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101. Mark all the correct statements
a. In 1999, if the regions were ranked in descending order based on the gap between the annual

percentage change in exports and imports, Central and Eastern Europe would be ranked sec-
ond.

b. The unweighted average annual percentage change in exports of the six regions was the highest
during 2003.

c. In 2001, if the regions were ranked in ascending order based on the gap between the annual
percentage change in exports and imports, Asia would be ranked second.

d. The unweighted average annual percentage change in imports of the six regions was the lowest
during 1998.



102. Mark all the correct statements
a. During 2000-2003, North American region experienced the highest average annual percentage

change in exports as compared to other regions.
b. During 1997-2000, Western European region experienced the lowest average annual percentage

change in imports as compared to other regions.
c. Central and Eastern European region experienced the highest jump in percentage change in

exports in any year during the sample period.
d. Asian region experienced the largest slump in imports in any single year during the sample

period.

Directions for Questions no. 103 to 106: Study the graph below and answer the questions.

Total Popu lation - Income - Wise

6418

980

28142624

6764

2838 2928
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World Low Income Middle Income High Income
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2010

2015



Total Popu lation - Continent -Wise
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1888
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2039
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14171330
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15281544
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Female Popu lation - Income - Wise
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1294 1397
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103. Mark all correct statements

a. The growth rate of female population in the world during the period 2005-2010 is expected to be
greater than the growth rate in male population in the world during 2010-2015.

b. The growth rate of total population in high income countries during 2005-2010 is expected to be
greater than the growth rate of male population in East Asia and Pacafic during 2010-2015.

c. During 2005-2010, the growth rate of male population in low income countries is expected to be
lower than the growth rate of female population in low income countries.

d. The growth rate of total world population during 2005-2010 and 2010-2015 is expected to greater
than 5 percent.



104. Mark all incorrect statements

a. The share of high income countries in total world population in 2005 is expected to be not lower
than the share of high income countries in total female population during 2005.

b. The share of Europe and Central Asia in the total male population in all three periods given is
likely to be greater than seven percent.

c. The share of middle income countries in total female population in 2015 is not expected to be
lower than the share of low income countries in total world population in 2010.

d. The share of South Asia in total female population in 2015 is not expected to be lower than the
share of South Asia in total world population in 2010.

105. Mark all the correct statements

a. The share of high income countries in total female population is expected to be larger than the
share of these countries in total male population in each year.

b. Population in high income countries is expected to grow at a faster rate than total world popula-
tion between 2010- and 2015.

c. The share of South Asia’s female population in total world population is expected to grow at a
higher rate at which the region’s female population in total female population will between 2005
and 2015.

d. The growth rate in population of middle income countries is expected to be higher during 2010-
2015 as compared to that during 2005-2010, while that of the high income countries is expected
to be lower taking the periods into account.

106. Mark all the incorrect statements

a. The share of South Asia in total world population is expected to rise by a larger margin than the
share of low income countries in total world population between 2005 and 2015.

b. The share of high income countries in total population is expected to be larger than the share of
high income countries in total world population in both 2010 and 2015.

c. The average annual growth rate of female population in the East Asia & Pacafic region between
2010 and 2015 is expected to be higher than the average annual growth rate of female population
in South Asia during the same period.

d. As compared to female population, male population in Europe & Central Asia in expected to
grow at a higher rate at a higher between 2005 and 2015.



1. (A,D)

Rod

C

D

B
θ

Tower/Building
φ

D

q

p

A

p q
tan

D
+

= φ   and  
q

tan
D

= θ

⇒
p tan

1
q tan

φ
+ =

θ

⇒  
p tan tan
q tan

φ − θ
=

θ

 Height of tower is
ptan

q
tan tan

θ
=

φ − θ
 and

 height of rod is 
(tan tan )

p q
tan
φ − θ

=
θ

So, (A) and (D) are the only correct options.

2. (A,C)  Let roots are andα β ,then

α + β
q

p
−

= and 
r
p

α × β =

                       2 2
1 1 22 2 2

2 2
α + β (α+β) − (αβ)+ = =

α β (αβ) (αβ)

2

2

q r
2

p p
Aspergiven,

r
p

   −
−   

   =
 
 
 

2

2

q r
2

p pq
p r

p

   −
−   −    =

 
 
 

or 2 2 22 p r pq qr= +

2 2 22 p r p.q qr
pqr pqr pqr

= +  (divide by pqr)

2p q r
q r p

⇒ = +

(A) clearly 
r p q

, and
p q r  are in A.P. (A) is correct

(B) As 
2

2
q p r p

r q qp
  ≠ × =  

   
. (B) is incorrect.

(C) As 
r p q

, and
p q r  are in A.P., their

reciprocals are in H.P.
(D) is wrong as these terms as in H.P., not in
A.P.
Hence A and C are correct.

3. (B,C)

5 cm
5 cm

CB

A

D
90°

h

b/2 b/2

( ) 1
Area ABC b h 12sq.cm

2
∆ = × × =

b h 24⇒ × = …(1)
Also, in right triangle ∆ABD,

2
2 2b

(5) h
2

 ⇒ = +  
or b2 + 4h2 = 100 …(2)

⇒
2

2 48
b 100

b
 + =  

…(3)

b = 6 and 8 are the roots of the above equation.
Hence, B and C are correct.

4.(B, D) Initial mixture = 40 kg
Sand (S): Cement (C) ratio is 1 : 4

⇒ S by weight 
1

40 8kg
5

= × =

and C by weight 
4

40 32kg
5

= × =

Let he mixes x kg of sand to the 40 kg mixture,

8 x 3
x 16kg

40 x 7
+

= ⇒ =
+

IIFT-2006 (Quant solutions)



⇒  he mixed 16 kg of sand to the 40 kg mixture.
Option (A): Weight of second mixture = 40 + 16

= 56 kg which is 56
1.4

40
=  times heavier and

not 1.5 times. Hence (A) is incorrect.
Option (B): Correct. x = 16 kg, as solved above.
Option (C): If the original mixture was in 8 : 3
ratio, the weight of sand would have been

3
40 10.9 k g 12kg

8 3
× = ≠

+
Hence, (C) is incorrect.

Option (D): The mixture weighs 56 kg. After
selling 7 kg of it, he is left with 49 kg of the
mixture. In 11 kg of new mixture (7 : 4 ratio)

Sand is 
4

11 4kg
7 4

× =
+

and Cement is 
7

11 7 k g
7 4

× =
+

In the final mixture

Cement = 
4

(49) 7
7

× +

= 28 + 7 = 35 kg

Sand 
3

(49) 4 25kg
7

× + =

Cement : Sand ratio = 
35 7
25 5

=

Hence (D) is correct.
In all B and D options are correct.

5.(A,C,D) The correct option will have exactly one
country assigned (or matched) to a single year
of the four given.Total no. of ways of randomly
answering (randomly matching) the question
is given by:-
= 4 × 3 × 2 × 1 = 24 ways.
Option (D):
 P (X = 4) = P(All four matches are correct)

= P(Answer is marked correctly) 
1

24
=

Hence, (D) is correct)
Option (C): P(X = 3) = P(Exactly three matches
are correct & fourth is not correct)
If 3 countries are matched, correctly, fourth
must be correct as well.
So P(X = 3) event will never occur.
Hence P(X = 3) = 0 is also correct.
Option (B): P(X = 1)
Let’s assume, the match given in the question
is the correct match. We have to count, all the
possible ways of matches where exactly one
is correct and the rest three are wrong.

Lets say, Italy 82→  is a correct match.For a
wrong match,WG can be 90 or 98&
F 98or66→ and E 90or66→
Case 1:-  When F is 98; only one way of
assignment is ( E 6 6 & W G 90)→ → .
Case 2:- When F is assigned 66; only one way
of  assignment is (E 9 0 & W G 98)→ →
So; if the only correct match is that of Italy,
there are exactly two ways of marking the
other countries, wrongly.

4 (2)
P(X 1)

24
×

⇒ = =  
8

24
= =

1
3 .

 ⇒
1

P(X = 1)=
3 . Hence option (B) is wrong.

Option (A): P(X 1)≥
= P(X = 1) + P(X = 2) + P(X = 3) + P(X = 4)
P(X = 2) going as in option (B)

4
2( C  × 1)

P(X = 2) = 
24

 
6

24
= =

1
4

1 1 1
P(X 1) 0

3 4 24
⇒ ≥ = + + +

15
24

= .

5
P(X 1)

8
≥ = ⇒  Option(A) is correct.

In all options (A), (C) & (D) are correct.

6. (A,B,C,D) Joshi’s Total cost price = 20,000 + 8,000 + 2,000
 = Rs. 30,000/-
Joshi’s selling price  = Wadhwa’s cost price

20
30,000 1

100
 = +  

= Rs. 36,000/-

And then Wadhwa sells it back to Joshi.
Option A:-Wadhwa lost Rs. 7200/- when selling
the shop, back to Joshi
⇒  Wadhwa’s selling price = 36000 – 7200

                   = Rs. 28800/-

⇒  Wadhwa’s loss  
28800–36000

36000
=

         = 20% exactly
⇒  Option (A) is correct.
Option B:- Joshi’s new total cost price
= 14000 + 8000 + 4000  = Rs. 24000/-
Joshis selling price is still the same = 36000

                        ⇒  Joshi’s profit 
36

1.5
24

= = ⇒ Profit is 50%

Option (B) is correct.
Option C:- At a profit of 40% on his total cost
price of Rs. 36000, Joshi’s monetary gain is:-



40
30000

100
= ×  = Rs. 12000/-

Hence, Option (C) is correct.
Option D:- If Joshi sold to Wadhwa at 40% profit
then Wadhwa’s cost price = 42,000/-
Wadhwa sells it back to Joshi at a loss of 40%

i.e. at a price of 40
42000 1

100
 = × −  

 = 25,200.

As, Joshi had made a monetary gain of
Rs. 12,000 in selling the same shop to Wadhwa
earlier, his net investment in taking the shop
back is:-
(Rs. 25200 – Rs.12,000) = Rs. 13,200/-
⇒ Option (D) is correct.
⇒  All the 4 options are correct.

7. (A,B,C,)
logx logy logz

K
b c c a a b

= = =
− − −

, say. Let B is base.

                        Then K(b c)
Blog x K(b c) x B −= − ⇒ = and

K(c a) K(a b )y B  and z C− −= = .

Adding, we get

{ }
B B Blog x log y log z

K(b c) K(c a) K(a b) 0

+ +

= − + − + − =

                        or 
Blog (xyz) 0= (0)(xyz) B 1⇒ = =

xyz = 1⇒
Option (A): xyz = 1, is correct.
Option (B): xa.yb.zc

a b cK(b c ) K(c a) K(a bB B B )− − −     = × ×     

[ ]Ka(b c) b(c a) c(a b)B − + − + −=

K(0) 0B B 1= = =
Option (B) is correct.

Option (C): b c c a a bx .y .z+ + +

k(b c)(b c ) k(c a)(c a) k ( a b ) ( a b )B B B+ − + − + −     × ×     

2 2 2 2 2 2K ( b c ) (c –a ) (a –b )
B

 − + +  =

0B 1= =
Option (C) is correct.
Option (D): is wrong as the expression evaluates
to 1 as in (C) and not zero.
In all, options (A), (B) and (C) are correct.

8.(A,B,C) In the pot there are x tickets of Knife Throwing
game and y tickets of Talking Dolls game. Start-
ing from Ajay, one ticket out of a total of (x + y)
is drawn. If the ticket is one of the x tickets for
the Knife Throwing game, the drawing of tick-
ets is stopped. If a Talking Dolls ticket is drawn,
it is put back in the pot.
Probability of Ajay, first drawing the Knife Throw-
ing ticket is
P

A
 = (Ajay gets it in first draw)

+ (Ajay gets it in third draw)
+ (Ajay gets it in fifth draw)+ …… ∞

       
2 4

A
x y x y xP

x y x y x y x y x y
       = + × + × …∞       + + + + +       

              A 2

x
x yx y

P
x 2yy1

x y

++
= =

+ 
−  + 

or A
x y

P
x 2y

+
=

+

For Mohan to get the first Knife throwing ticket,
let the probability is P

M
P

M
 = (Mohan gets it in second draw)

+ (Mohan gets it in fourth draw)
+ (Mohan gets it in sixth draw)
+ …… ∞

     
3 5

y x y x y x
PA

x y x y x y x y x y x y
= × + + × + … ∞

+ + + + + +

           
                      

2

2

xy
(x y)

y1
x y

+
=

 
−  + 

M
y

P
x 2y

=
+

Option A: Given P
A
 = 4 P

M

i.e. 
x y 4y
x 2y x 2y

+
=

+ +

x 3
y 1

⇒ =

Hence, (A) is correct.

Option (B): Given P
A
 = 5 P

M

x 4
y 1

⇒ =

Hence (B) is correct.

Option C:  P
A
 = 2 P

M

x 1
y 1

⇒ =

Hence (C) is correct.



Option D: P
M
 < P

A
  always. { }y (x y)< +∵

Here (D) cannot be a valid statement.
In all options. (A), (B) and (C) are correct.

9.(A,C) ⇒  height of the cone = diameter of the cone
            = side of the cube.

2r

rr

Volume of the memento = 
2

718 cc
3

or 
21 2

r (2r) 718
3 3

× π × =

r 7cm⇒ = and side of cube = 14 cm.

⇒ surface area of box = 6 × (14)2 = 1176 cm2

⇒ expense in packing =1176 × 1.5 = 1764 Rs.
Option (A) Madan’s total expenditure on the
box
= (cost of the box) + (expenditure in the covering)
= 500 + 1764 = Rs. 2264.
Hence, option (A) is correct.
Option (B):wrong,as expenditure was
Rs. 1764 .

Option (C):correct, as area= (14)2 =196 2cm
Option (D): Volume of box=(14)3 = 2744 cc
Hence option (D) is incorrect.
In all, option (A) and (C) are correct.

10.(A,B,D)

A

B

E

D
h

H

(h + H) = combined 
                 height

ED = tower 
CD = hill
AB = width of the river

C
45°

60°

Water does not move in the lake.
In the right triangle ACE;

A 45 EC AC (h H)∠ = ° ⇒ = = +
= 300 m ...(1)
In the right triangle BCE;

EC
B 60 tan60 3

BC
∠ = ° ⇒ = ° =  ...(2)

and in right triangle ABC, AC2 = AB2 + BC2  ...(3)
speed of boat = 2 km / hr.
Option (A):- AC = 300 m

EC 300 3
3 BC 100 3m

BC 3
×

= ⇒ = =

2 2AB AC BC⇒ = −

AB 100 6 m=  is the breadth of the river..

⇒  time taken by boat to move from A to B.

A B
100 6 60

time
2 1000→

×
=

×
 3 6=  minutes.

Option (A) is correct.

Option (B):- The breadth of the river is 100 6m,

Option (C):- incorrect,asRajan took 3 6
minutes.
Option (D):- h + H = 450 m
speed of boat = 1 km / hr.
As all the angles remain the same, we will get 3
new right triangles which are correspondingly
similar to the earlier ones.

Breadth of the river 
450

(100 6 ) m
300

= ×

150 6 m=



150 6m
timetaken

1km/hr
⇒ = 9 6 minutes=

⇒  Option (D) is correct.
In all; options; (A), (B) & (D) are correct.

11.(ACD)
D

A

C

B

x

y

y

y

y

y

W

S

E

N

x x x

Option (A) Sunil has to go from A to C. There
are 4 x’s and 5 y’s which have to be arranged in
order to reach C, from A. The total number of
routes :

9!
4! 5!  = 126 routes.

Option (B) The total number of ways includes
the shortest possible routes as well. There can
be infinitely possible routes as retracing of the
paths will not be restricted. Hence (B) is wrong.
Option (C) A square is a special case of
rectangle. To form a rectangle, we have to
choose 2 N-S lines from the given 5 and 2 W-E
lines, out of 6 hence, the total number of
rectangles = 6C

2
 × 5C

2
 = 150.Option (C) is correct.

Option (D): As in option (A) we have 11 objects
now, out of which 5 are similar, of one kind and
6 are similar of another kind. Total number of

routes
11!

5! 6!
=

×
 = 336.Option (D) is correct.

⇒ In all options (A), (C) and (D) are correct.

12.(A,C,D) Laxman takes the first train which is the slower
one. Bharat takes the faster train. Let the trains
be A and B respectively. Speed of the faster

train, train B = 
180km

60km/hr
3hr

=

Train A takes twice time, so AV 30km/hr= .

Speed of train B, w.r.t. Laxman (when he is
sitting in the train A) is (60 – 30) = 30 km/hr
Laxman observes the train B, pass by him in 12
seconds. If L

B
 were the length of the faster train

then,

BL
30km/hr

12seconds
=

B
30 1000

L 12
3600
×

⇒ = ×  m = 100 m.

                        Option A: A BL L
30km/hr

30seconds
+

=

 {L
A
 = Length of the slower train}

A B
30 1050

L L 30
3600
×

⇒ + = × =250 m

( )AL 250 100 m⇒ = −    OR L
A
 = 150 m

So, L
A
 – L

B
 = 50 m. Option (A) is correct.

Option (B) If V
B
 = 60 × 2 = 120 km/hr

V
A
 = 30 km/hr, as before.

To overtake, train A; train B has to cover its
length, L

A
. As we cannot determine the length

of the slower train, we cannot find the time taken
in overtake. Hence, (B) is not correct.
Option (C): V

A
  = 30 km/hr

V
B
 = 60 km/hr

A BL L
30km/hr

24
+

=

( )A
1000

L 100 30 24
3600

⇒ + = × ×

L
A
 = 200 – 100 = 100 m.

O p t i o n ( C ) i s c o r r e c t . O p t i o n ( D ) :

A
3

V 30 45km/hr
2

= × = and BV 60km/hr=

BL 100
15km/hr m

t t
⇒ = =

⇒ t = 24 seconds. Hence (D) is correct.
13.(A,B,D) Let M and W denote Men and Women.

⇒ 20 × 10 M = 15 × 20 W
⇒ 2M = 3W …(i)
Hence 10 Men and 10 Women together can
finish the work in N days such that
{N = Number of Days taken working together.}
⇒ 20 × 15 = 25 × N
⇒ N = 12
Option (A) Total wage for Men = 12 × 50 × 10

        = Rs. 6000



Total wage for Women = 12 × 10 × 45
            = Rs. 5400

∴ Total wage bill = Rs. 11400
Hence, option (A) is correct.
Option (B) Total wage for Men = 12 × 10 × 45

        = Rs. 5400
Total wage for Women = 12 × 10 × 40

            = Rs. 4800
∴ Total wage bill = Rs. 10200
Hence, option (B) is correct.
Option (C) Total wage for Men = 12 × 10 × 40

        = Rs. 800
Total wage for Women = 12 × 10 × 40

            = Rs. 4800
∴ Total wage bill = Rs. 9600
Hence, option (C) is correct.
Option (D) If 20 Men and 30 Women are
employed. Then, together they way finish the
work in N days such that
⇒ 20 × 15 = 60 × N  {∵20 M = 30 W}
⇒ N = 5
Total wage for Men = 5 × 20 × 40 = Rs. 4000
Total wage for Women = 5 × 30 × 35 = Rs. 5250
∴ Total wage bill = Rs. 9250
Hence, option (D) is correct.

14.

S

R
P

Q

θ
θ

90 −θ

90−θ

90°

Statement I: PQS∆  has angles

P , Q 90 , S 90∠ = θ ∠ = − θ ∠ = °

RPS∆  has angles

R , P 90 and S 90∠ = θ ∠ = − θ ∠ = °

As all the corresponding angles are equal,
PQS RPS∆ ∆∼

Hence, statement I is correct.

Statement II:
PSQ,angles P , S 90 and Q 90∆ ∠ = θ ∠ = ° ∠ = − θ

RSP∆ , angles R∠ = θ , S 9 0 ,∠ = ° P 90∠ = − θ

PSQ RSP⇒ ∆ ∆∼
but PSQ RSP∆ ≅ ∆/  similar but not congruent.
Hence, II is incorrect.

Statement III:
PSQ,angles P , S 90 and Q 90∆ ∠ = θ ∠ = ° ∠ = − θ

and
RPQ,angles R , P 90 and Q 90∆ ∠ = θ ∠ = ° ∠ = − θ

Hence, statement III is correct.
Hence, statement (I) and (III) are correct.
option (B) is correct.

15.(D)
3 5 7

S ....
4 36 144

= + + +

    2 2 2 2 2 2 2 2
1 1 1 1 1 1 1 1S ....

1 2 2 3 3 4 (n) n 1)

     = − + − + − + −          +     

2 2 2 2 2 2
1 1 1 1 1 1

or S 1 ...
2 2 3 3 n (n 1)

  
= − + − + + + −    +  

2
1

1
(n 1)

= −
+

2

2
(n 1) 1

(n 1)
+ −=

+

2

2
n 2nor S
(n 1)

+=
+

2

2
1 (n 1)
S n 2n

+
⇒ =

+
Hence, option (d) is the correct answer.

16.(D) 2(5 2)x (4 5)x (8 2 5) 0+ − + + + =

Let roots be α,β and H be their harmonic mean

2 1 1
H

⇒ = +
α β

α + β
=

αβ

4 5
4 55 2

8 2 5 8 2 5
5 2

+
++= =

+ +
+

or 2 1
H 4

H 2
= ⇒ = H 2⇒ = ±

Hence, option (D) is correct.

17.(A) Given, tanα  is the G.M. of sin α  and cos α

2(tan ) (sin )(cos )⇒ α = α α

or 3(sin ) (cos )α = α
22 3(sin ) (cos ) α = α 

2 3 2 3 2

2 2 2

sin (1) ( sin ) 3(1)

( sin ) 3(1)( sin )

α = + − α +

− α + − α

or 2 6 2 4sin 1 sin 3sin 3sinα = − α − α + α



or 2 4 61 4sin 3sin sin 0− α + α − α =
Adding 1, on both sides,

2 4 62 4sin 3sin sin 1− α + α − α =
Hence, option (A) is correct.

18.(A)
1

5 6 11+ +

( )
( )
( )

5 6 111
5 6 11 5 6 11

+ −
= ×

+ + + −

5 6 11

2 30

+ −
=

( )
( )2

5 6 11 30

2 30

+ − ×
=

5 6 6 5 330
60

+ −
=

Option (A) is correct

19.(B) Let roots be 2andα α . Given, 2 pα + α = − and

( ) ( )2 qα × α =

or 2 pα + α = −  and 3 qα =

⇒ ( )32 3( p)α + α = −

or 3 2 3 2 2 2 2 3( ) ( ) 3( ) ( ) 3( )( ) pα + α + α × α + α α = −

or 3 2p q(3p 1) q 0− − + =
Option, (B) is correct.

20.(A) For 2x mx 1 0,+ + =  roots are andα β

m⇒ α + β = − and . 1α β =

For x2 + nx + 1 = 0, roots are andγ δ

n⇒ γ + δ = − and . 1γ δ =
Expression:
( )( )( )( )α − γ β − γ α + δ β + δ

( )( )( )( )= α − γ β + δ β − γ α + δ

[ ][ ]= αβ+αδ−γβ−γδ αβ+βδ−γα−γδ

[1 . 1][1 1]= + α δ − γ β − + β δ − γ α −

( )( ).= α δ − γ β βδ−γα

2 2 2 21. .1 .1 .1= δ − α − β + γ

( ) ( )2 2 2 2= δ + γ − α + β

( ) ( )2 22 . 2   = δ + γ − δ γ − α + β − αβ      

( )22( n) 2.1 m 2.1  = − − − − −     2 2n m= −

Hence, option (A) is correct.

21.(C) Side of the square 484 c m 22cm= =

⇒ length of the wire = 4 × (22) = 88cm.

After cutting, longer part 
3

88 66cm
4

= × =

shorter part  = 88 – 66 = 22 cm.

Radius of the circle, formed 
66 21

cm
2 2

= =
π .

Side of the square formed 
22 11

cm
4 2

= =

Area of the circle 
2

221 693
cm

2 2
 = π =  

Area of the square 
211 121

sq.cm
2 4

 = =  

Total area enclosed by both

2693 121
sqcm 376.75cm

2 4
 = + =  

Hence (c) is correct.

22.(C)

y

(0, 4)

,0)4
5

3
2 (

(0, )

O
(O, O)

L2

L1

x(5, 0)

Line L
1
 passes through (0, 4) and 

4
, 0

3
 
  

.

It’s equation is
y 4 0 4

3
4x 0 0
3

− −
= = −

− −



or y 3x 4 0+ − = …(1)
and the equation of line L

2
 is

x + 2y – 5 = 0 …(2)
The shaded region includes x-axis (y = 0) and
y-axis (i.e. x = 0) as its boundaries and bounds
only the positive quadrant of the x-y plane.

x 0 a n d y 0⇒ ≥ ≥ …(3)
For the shaded region,
y + 3x – 4 ≤ 0 …(4)
and x + 2y – 5 ≤ 0 …(5)

3x y 4, x 2y 5, x 0, y 0+ ≤ + ≤ ≥ ≥
The region bounded is given by
Hence, option (C) is correct.

23.(B) Here we can find after 6 hours, how much part
was filled by the three pipes.

16 4 6 1 2 1
12 18 36 2 9 6

= + − = + −

9 4 3 10 5
18 18 9

+ −
= = =

Remaining part = 
1 5 4

9 9
−

=

Since, this part is to be filled by A and B together.
Further, A and B together can fill in one

hour
1 1

12 10
= +  part 

5
36

=  part.

∴
4
9  part will be filled by A and B together in

time
1

3
5

=  h.

∴ Total time required = 6h + 3h + 12 min
= 9 hrs and 12 min.
Hence, option (B) is correct.

24.(A)
{ }10

1
y x 7

log (3 x)
= + +

−

(i) 10log (3 x) 0 3 x 1− ≠ ⇒ − ≠

or x 2≠ …(1)

(ii) 3 x 0 x 3− > ⇒ < …(2)

(iii) x 7 0 x 7+ ≥ ⇒ ≥ − … (3)
The domain is

7 x 3, x 2− ≤ < ≠

or [ 7,3) {2}− ∼
The correct answer is [ 7,3) {2}− ∼ .

Apparently, option (A) should have had this
answer, if there was no misprint.

Hence, (A) is correct.

25.(A) The angle between a a n d b
r r

 is θ .

(a 3b).(7a 5b) 0+ − =
r r r r

… (1)

and (a 4b).(7a 2b) 0− − =
r r r r

… (2)

From (1)

(a).(7a) (a).( 5b) (3b).(7a) (3b)( 5b) 0+ − + + − =
r r r r r r r r

or
2 2

7 a cos0 5 a b c o s 21abcos 15b cos0 0° − θ + θ − ° =
r r r r r r

or 2 27a 5abcos 21abcos 15b 0− θ + θ − =

or 2 27a 15b 16abcos 0− + θ = …(3)

Similarly, solving the dot product in (2), we get
2 27a 8b 30abcos 0+ − θ = …(4)

Subtracting (3) from (4)
223b 46abcos= θ

2
2

2
b b

2cos cos
a 4a

⇒ = θ ⇒ θ =

or

2
2

2
b

sin 1
4a

⇒ θ = −
2

2
2

atan 4 1
b

 
⇒ θ = −   

From equation (3) and (4)
2 27a 15b 16abcos− = − θ

2 27a 8b 30abcos+ = θ
2 2

2 2
7a 15b 16

307a 8b
− −

⇒ =
+

or

2

2

2

2

a
7 15

b 8
15a

7 8
b

 
−   −  =

 
+  

 

2

2
a

1
b

⇒ = or 2tan 3θ =

tan 3⇒ θ = ±
Option (A) has one of the two possible values

i.e. 3 .Hence, (A) is correct.

26. (C) Before the merger
X Ltd. had no. of employees = 4
Y Ltd. had no. of employees = 3
Z Ltd. had no. of employees = 5
After the merger, there are quarrels amongst
the employees of the erstwhile X ltd, Y ltd, & Z
ltd. An employee does not quarrel with any of
the employees from his parent company.



Company  X Y Z

Employees 4 3 5
Any employees in X can have a maximum
possible no. of quarrels with the employees of
Y ltd. & Z ltd. as given by:-
1 × 3 + 1 × 5
As there are 4 employees in the merged
company, who came from X; So; the total
number of quarrels involving employees of X
company is
4 × [1 × 3 + 1 × 5]
= 4 × 8
= 32 quarrels. ...(1)
Further employees of  Y & Z ltd. will be involved
with quarrels within each other. The total number
of such quarrels.
= 3 × [1 × 5]
= 5 × [1 × 3]
= 15 quarrels ...(2)
From (1) and (2)
The total number of quarrels between the
employees of three erstwhile companies is
= 32 + 15 = 47 quarrels.
Hence (C) option is correct.

27. (C)
1 tan tan

1 c 2 2
1 c 1 tan tan

2 2

cos cos sin sin
2 2 2 2

cos cos sin sin
2 2 2 2

α β   − ×   −    =
α β+    + ×   

   
α β α β       − ×       

       =
α β α β       + ×       

       

cos
2

cos
2

α + β 
  =

α − β 
 
 

…(i)

sin sin aα + β =∵ & c o s cos bα + β =
Squaring and adding up both equations

2 2 2

2 2 2

sin sin 2sin sin a

cos cos 2cos cos b

⇒ α + β + α β =

α + β + α β =

2 21 1 2(cos cos sin sin ) a b⇒ + + α β + α β = +

( ){ } 2 22 2 cos a b+ α − β = +

( )
2a b1 cos

2

2+⇒ + α − β = …(ii)

cos cos bα + β =∵ …(iii)
Dividing equation (iii) by (ii)

( ) 2 2
cos cos 2b

1 cos a b

α + β
⇒ =

+ α − β +

2 22

( ) ( )
2cos cos 2b2 2

( ) a b2cos
2

α + β α − β
×

⇒ =
α − β +

2 2

( )
cos 2b2

( ) a bcos
2

α + β

⇒ =
α − β +

From equation (i) we get

2 2
1 c 2b
1 c a b

−
⇒ =

+ +
Option C is correct.

28.(C)
1 1sin x cos x

2
− − π

+ =

1 1asin x c bcos x− −= +∵
1 1a c

sin x cos x
b b

− −⇒ = + …(I)

or bcos–1x = asin–1x – c

1 1b c
cos x sin x

a a
− −⇒ = − …(II)

Adding equation (I) and (II)

                   
1 1 1 1a b c c

sin x cos x (sin x cos x)
b a b a

− − − −⇒ + = + + −

1 1
c

2 a b
π   = + −     

c(b a)
2 ab
π − = +  

ab 2c(b a)
2ab

π + −

Hence, option (c) is the correct answer.

29. (A)

2

4sin cos2sin 2 2
1 sin cos 1 2sin cos 2cos 1

2 2 2

θ θ
θ

=
θ θ θ+ θ + θ + + −

4sin cos
2 2

2cos sin cos
2 2 2

θ θ

=
θ θ θ + 

 



2sin
2K

sin cos
2 2

θ

⇒ =
θ θ + 

 

…(I)

Now

2

2

2

1 cos sin
1 sin

1 1 2sin 2sin cos
2 2 2

sin cos
2 2

2sin sin cos
2 2 2

sin cos
2 2

− θ + θ
+ θ

θ θ θ− + +
=

θ θ + 
 

θ θ θ +  =
θ θ + 

 

2sin
2

sin cos
2 2

θ

=
θ θ + 

 

…(II)

∵  Equation (I) and (II) are same.
Hence, the value is equal to K and option (A) is
correct.

30. (A) The probability that Sumit actually sees a Shark,
given that he claimed to have seen one.

P(He actually sees the shark & reports truth)
P(He claims of seeing a shark)

=

P(Sees the shark) × P(Reports Truth)
P(sees the shark) × P(reports truth) 
+ P(Doesn't see) × P(reports false)

=
 
 
 

1 1
8 6

1 1 7 5
8 6 8 6

×
=

× + ×

1
48
36
48

=
1

36
=

⇒  Option (A) is the correct answer..



31.(A,D)

32.(B,C,D)

33.(A,D)

34.(A,B,D)

35.(A,B)

36.(C)

37.(A)

38.(B,C)

39.(A,D)

40.(A,D)

41.(D)

42.(C)

43.(C,D)

44.(B,D)

45.(B,C,D)

46.(B,C)

47.(A,B)

48.(B)

49.(B,C,D)

50.(A,D)

51.(C,D)

52.(A,B,D)

53.(C,D)

54.(A,D)

55.(D)

56.(D)
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57.(A,D) The words 'perverse' and 'perverted' are
correctly used in A. The words 'rebelling' and
'revolting' have also been used correctly in D.
This  meaning fits in the context of both the
sentences.B is incorrect because 'effluence'
has been used incorrectly with 'indigence'.C is
incorrect because 'purposely' has been
misplaced in the sentence.

58.(B,C,D) Options B,C& D are correct .Corps & corpse,
‘grisly & grizzly & infamous & notorious have
been used correctly. Illusion & allusion have
been used incorrectly, fit in accurately when
interchanged between options i & ii .

59.(A,D) Options A & D are correct. In B, the usage of
the word 'rebel' makes the sentence
inconsistent and unclear. In option C 'overlook'
and'oversee' make sense only if they are
interchanged between options i & ii.

60.(C,D) Sentences C and D are incorrect.  In sentence
C it should have been "The Huns,who were
Mongolian, invaded Gaul in 461 A. D." In D, there
is an unclear pronoun reference. The sentence
should be  "Because of her interest in economic
development, Senator Martin sometimes
neglects the environment."

61.(A,B,D) Sentence A – “more than they do”; sentence B
– “he must … his personal life”; sentence D –
modifier error.

62.(B,C,D) Murrey means dark purplish - red colour. Thus
a similar relationship cannot be established
between murrey and black, like the one between
magenta (purplish red) and red. So, A is
incorrect. Inter (to bury) and Exhume (to dig
out) are opposite actions of each other. Piebald
(varied) and Homogeneous (uniform) also share
a relationship of being opposites. Effete (barren)
and Fructuous (productive) share the same
relationship as that of Chapfallen (dejected)
and Effervescent (excited) i.e. that of being
opposites. Selenology is the study of moon,
whereas Epistemology is the study of (human)
knowledge. Thus B, C and D are valid analogies.

63.(A,B,C,D) A Polyglot is able in several Languages. A
Polyphagous craves for Food. Hence, some
kind of a correspondence has been established
between the given choices. Escutcheon and
Scutcheon are synonyms (both meaning a
shield) and so are Fabulist and Liar (both
meaning a person concealing the truth). Scurvy
is a disease caused by the lack of Vitamin C
whereas Kwashiorkor is a disease caused by
lack of Protein (caused primarily due to a high
carbohydrate diet).Apothecary is an institution

manufacturing and/or selling Drugs whereas a
Cruciverbalist is a person who is an expert at
solving crosswords. Hence all are valid
analogies.

64.(D) Growth cannot be described as luxurious.
Hence sentence D contains inappropriate
usage of the word ‘luxuriously’.

65.(A) Prophecy is a noun and not a verb. Hence
sentence A contains inappropriate usage of the
word.

66.(A) Moribund means dying and is the only word
that fits in the context of both the sentences.

67.(C) Soporific is a word that can be used both as a
noun and as an adverb. In the first sentence it
is used as an adverb to qualify the nature of
the tone. In the second sentence it is used as a
noun to mean a sleep inducing medication.

68. (B) 'Puerile' means 'childishly foolish; immature or
trivial. The first meaning fits in sentence (ii).
The second meaning fits in sentence (i).

69. (D) None of the options fit in both the sentences

70.(A,B) Hypallage and rantipole have been spelt
correctly

71.(D) Only panegyric has been spelt correctly.

72.(B,D) The correct combinations are
Agent Burning-Glass
Garpon Caravan
Gyanyima Market
Norbu Guide

Hence the correct choices are B and D

73.(A,D) From the passage only statements A and D are
correct.

74. (A,B,C,D) Satement A is not mentioned in the passage. It
only states that the visitors received tea made
in European fashion. Statement B is incorrect
because the passage mentions that during the
second visit ‘the Garpon’ insisted the visitors to
stay put for a few more days. C is an incorrect
statement because it was the agent who was
astonished to witness the simplicity in the
lifestyle of the author and his friends.
(paragraph 4). The last paragraph reveals that
mountain Gurla Mandhata was reflected in the
waters of Lake Mansarovar. Hence, all four
statements are incorrect.
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75. (A) This is the only correct statement. The last lines
of the passage reveal that  "the biggest market
.........Gyanyima." Statement B, C and D are not
mentioned correctly even though some
reference has been made in the passage.
Hence, only A is correct.

76.(A,B,D) There is no mention of Statement C in the
passage. The rest however are correct.

77. (A,B,C,D) Paragraph 7 reveals that "Printing with movable
letters began in China in the middle of the 12th
century" So, A is incorrect. It cannot be inferred
that 'numerical knowledge and ability' , were
the main concerns. There were other concerns
like co-ordiantion, history, printing, war,
technology etc. So, B is incorrect. C is incorrect
because paragraph 7 mentions "new
mathematical theories". D is not mentioned in
the passage. So, all the statements are
incorrect.

78. (A,B,D) A and B are clearly mentioned in the passage.
D can be inferred from paragraph 2.

79.(A,B,C) The combinations are
Astronomy Tabriz
Abacus Clerk
Literacy Almanac
History Propaganda

Thus the correct answers are A, B, C.



For questions 80 to 85:
From Information 7, the occupant of room number 103 owns 12 cars and he donated to 8 institutions. Then from Information 3,
occupant of room number 102 must be having 24 cars. From information 6, occupant of room number 104 must be having 4z
number of cars and donated to y number of institutions where 4z < y. From information 9, occupant of room number 105 owns 8
cars and if the businessman from Canada donated to ‘x’ number of institutions, then the occupant of room number 105 must have
donated to (x–2) number of institutions.

From information 10, residents of Canada, England and Brazil are staying in alternate rooms in that order starting from left.
Though room numbers of residents of Canada, England and Brazil can also be 102, 104 and 106 respectively. But from
question 80 we can conclude that room numbers are 101, 103, and 105 respectively as room number 106 is not given for
Brazilian Businessman.

Although the nationality of the occupant of room number 106 is not known from the information given, it can be found out to be
Germany from the options of the 3rd question in the set.
We can compile the following table now and answer all questions.

Room No 101 102 103 104 105 106

Nationality Canada Uruguay England Argentina Brazil (Germany)

Number of Cars 24 12 4 8 16

Number of Institutions 
in which they have 
donated

x 8 18 x-2 24

80.(D) Room No. 105

81.(C) 18

82.(D) Germany

83.(D) Germany

84.(B) Uruguay

85.(B) 12
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For questions 86 to 89:

The following table can be made after observing the rules:

INPUT lemon apple choco college girl dream room book calf

1 2 3 4 5 6 7 8 9
STEP-1 3 1 2 4 5 6 9 8 7 Rule-1

STEP-2 1 2 3 6 5 4 7 8 9 Rule-2
STEP-3 9 1 2 8 3 4 7 5 6 Rule-3

STEP-4 2 9 1 8 3 4 6 7 5 Rule-4
STEP-5 1 9 2 4 3 8 5 7 6 Rule-2

STEP-6 6 1 9 7 2 8 5 3 4 Rule-3
STEP-7 9 1 6 7 2 8 4 3 5 Rule-1
STEP-8 6 1 9 8 2 7 5 3 4 Rule-2

STEP-9 4 6 1 3 9 7 5 2 8 Rule-3
STEP-10 1 4 6 3 9 7 8 5 2 Rule-4

STEP-11 6 4 1 7 9 3 2 5 8 Rule-2
STEP-12 8 6 4 5 1 3 2 9 7 Rule-3

STEP-13 4 6 8 5 1 3 7 9 2 Rule-1
STEP-14 8 6 4 3 1 5 2 9 7 Rule-2

STEP-15 7 8 6 9 4 5 2 1 3 Rule-3

86.(A,B,D) From the table STEP 10 is:

STEP-10 1 4 6 3 9 7 8 5 2

lemon college dream choco calf room book girl apple

So STEP 10 is option (C).
Hence the right options are A, B and D.

87.(A,C,D) From the table STEP 8 is:

STEP-8 6 1 9 8 2 7 5 3 4

dream lemon calf book apple room girl choco college

So option (B) can be output. Hence the right options are A, C and D.

88.(A,B,C,D) By observing the table, we get none of the arrangement in the options will fall between STEP 11 to 15.

89.(C, D) By check the options. Rule-1 is applied in options (C) and (D).

90. (D) By checking the options.
Option(A): If Dilip observed the other three actors helmets colour like 2 silver and 1 copper. Then he could tell his
helmet colour i.e. Gold . But he did not give right answer. So option (1) is the correct statement.
Option (B): Bimal knows that Chris and Dilip cannot tell their helmets colour. If Bimil observed the helmet colour
of Aslam. Then he could tell his helmet colour i.e. Gold. But he did not give the right answer
Option (C): Chris knows that Dilip cannot tell his helmet colour. If Chris observed the other two actors helmets
colour like one silver and one copper or both silver. Then he can identify his helmet colour i.e. Gold. But he did not
give right answer. So it is the right statement.
Option (D): None of the statement is wrong. So option D is answer.



91.(A,B,C,D) By checking the options. The following table can be
made.

Option -A Option -B Option -C Option -D
No of Units of 

Product-1 2 2 2 2
No of Units of 

Product-2 14 14 10 14
No of Units of 

Product-3 2 4 8 4
No of Units of 

Product-4 6 4 4 4
No of Units of 

Product-5 2 2 2 2

Cost 1960 1980 1960 1980
No of points 26000 26000 26000 26000

No of Panalty 
points 20000 10000 20000 10000

Hence A, B, C and D are the right options.

For questions 92 to 96:

92.(A,B,D)    Statement A: correct

  2001 2002 2003 

Wipro 0.1164 0.1189 0.1348 

Tata Steel 0.156 0.1489 0.1495 

   Statement B: correct

  

  2001 2003 

Indo Rama 0.0111 0.0076 

Arvind Mills 0.0316 0.0236 

Raymond 0.0372 0.0389 

Century Enka 0.00744 0.00811 

Steel Authority 0.5631 0.584 

Tata Steel 0.1717 0.1909 

Rashtriya Ispat 0.076 0.0636 

Ispat Industries 0.0083 0.0086 

Statement C: incorrect

2001 2002 2003

R & D expenditure of Tata 
Steel as a percentage of sales

0.117 0.096 0.152

Percentage of R & D 
expenditure to sales as iron 
and steel sector as a whole

0.134 0.113 0.105

Statement D: Correct as 5 companies show decline.

 2002 2003 

Ranbaxy 0.4646 0.225 

Dr.Reddy Lab 0.727 -0.004 

Cipla Ltd. 0.3167 0.1206 

Glaxosmithkline 0.0472 0.0375 

Wipro 0.1115 0.1608 

Infosys 0.3698 0.3913 

Videocon 0.5332 -0.275 

Bharat Electronics 0.1257 0.291 



93.(A,C) Statement A: Correct

Sectors Required Percentage 
Textiles 8.31% 
Pharmaceuticals 7.77405% 
Electronics 7.7704% 
Iron and Steel 9.64% 
 

Statement B: Incorrect (Ispat Industries will
be ranked lowest)

      

Companies Required Percentage 
Indo Rama 1.4% 
Arvind Mills 6.57216% 
Raymond Ltd. 16.23188% 
Century Enka Ltd. 3.69979% 
Ranbaxy 6.0099% 
Dr. reddy’s 8.03519% 
Cipla 4.64081% 
GlaxoSmithkline 11.19163% 
Wipro 15.85% 
Infosys 46.31% 
Videocon 1.4714% 
Bharat electronics 14.62058% 
Steel Authority 18.04016% 
Tata Steel 11.58125% 
Rashtriya Ispat Nigam 7.83028% 
Ispat Industries limited 1.18076% 
 

       Statement C: Correct

Companies Required Percentage 
Indo Rama 0 
Arvind Mills 0 
Raymond Ltd. 0 
Century Enka Ltd. 0 
Ranbaxy 5.54753% 
Dr. reddy’s 5.95794% 
Cipla 3.35% 
GlaxoSmithkline 0.33417% 
Wipro 0.43017% 
Infosys 0.57604% 
Videocon 0 
Bharat electronics 4.6225% 
Steel Authority 0.30077% 
Tata Steel 0.09665% 

Rashtriya Ispat Nigam 0.0714286% 
Ispat Industries limited 0 

 

Statement D: Incorrect
It did not make the highest profit as Indo Rama
Synthetic ltd. has made a higher growth than
Wipro in the year 2001-2003.

94.(B,C,D) Statement A: Correct
By observation.
Statement B: (Incorrect as the percentage is
minimum for Electronics sector)

Sectors Required Percentage 
Textiles 8.31% 
Pharmaceuticals 7.77405% 
Electronics 7.7704% 
Iron and Steel 9.64% 
 

Statement C: Incorrect.
It is Incorrect as for no company the required
percentage is greater than 20%.

Statement D: Incorrect
In the year 2002 the ratio of total profits to total
sales is –0.02880 and in the year 2001 the given
ratio is –0.0260.

95.(B,C) Statement A: Incorrect
Because in the year 2002-2003 Cipla Ltd. had
a 100% decline in the R & D expenditure.

Statement B: Correct.

 

Company Ratio 
Ranbaxy 0.0541 
Dr. Reddy’s 0.0696 
GlaxoSmithKline 0.0033501 
Infosys 0.00565 
Bharat Electrical 0.04655 
Steel Authority of India Limited 0.0028 
Tata Steel 0.00124 

 

The ratio was highest for Dr.Reddy’s.

Statement C: Correct
During the year 2001-2003, in terms of sales
growth, the best performer in the pharmaceutical
sector was that of Ranbaxy which had a 79.55%
growth and no company had a growth rate
greater than any company in the Iron and Steel
sector.



Statement D: Incorrect
Arvind Mills in the year 2001-2002 and Indo
Rama Synthetic Ltd in the year 2002-2003 have
greater percentage decline than Videocon in any
of the given years.

96.(A,B,D)

 

Statement 2001 2002 2003 
A 0.02779 0.01976 0.0196 
B 0.156096 0.14891 0.1495 
C 0.12160 0.11612 0.1119 
D 0.2247 0.0883 0.0869 
 

The values in the statements A, B and D in the
given three years when plotted will closely
resemble in the figure.

For questions 97 to 100:

97.(A,B) Statement A: Correct
From graphs we can conclude that the vote
share of Democrats and Labour party in 2002
is greater than their combined vote share in
1998.

Statement B: Correct
Number of seats lost by Democrats in 2002
elections = (33.53 x 5.01 – 25.48 x 6.20)
 = 168 – 158 = 10
Number of seats gained by the Republicans in
2002 =  (7.9 x 6.2 – 6 x 5.01) = 49 – 30 = 19.

Statement C: Incorrect
Independents gained the most in terms of vote
share but in terms of the number of seats,
labour gained the most over the 2000 election
as they increased their seats from 104 in 2000
election to 165 in 2002 election.

Statement D: Incorrect.
In the year 2002 as well as in the year 1996
70% of Independants and Labour are eligible
to form the government as their share in the
seats won is greater than 50% in each of the
years.

98.(C,D) Statement A: Correct
The percent increase in seats obtained by the
Liberals and Labour together in 2002 over the
year 1998 is 11.39% and the percent increase
in the vote share obtained by these parties
during the same period is 1.34%.

Statement B: Correct
By observation Labour party showed the

greatest percentage increase in the vote share
obtained in the year 2000 over the year 1998
across all the parties.

Statement C: Correct
Because in 2000 elections three parties namely
Independents, Democrats and Liberal faced a
decline in the vote share, whereas in 1998 four
parties (excluding democrats) faced decline.

Statement D: Incorrect
Highest jump in the percentage of seats
obtained by any party (Independents in 2000
over the year 1998) = (38.72 – 32.98) = 5.74%

Highest jump in the percentage of vote share
obtained by any party (Democrats in 1998 over
the year 1996) = (25.69 – 20.29) = 5.4%

99.(B,C) Statement A: Incorrect
Vote share of Labour and Liberal party taken
together in the year 1996
 = 28.8 + 1.97 = 30.77
Vote share of Labour and Liberal party taken
together in the year 1998
 = 25.82 + 1.75 = 27.57.

Number of seats won by Labour and Liberal in
the year 1996 = 143
Number of seats won by Labour and Liberal in
the year 1998 = 158.
Gain is 15 sweets.

Statement B: Correct
Democrats, Republicans and 35% of the
Independents could have formed the
government in two elections 1998 and 2000.

Statement C: Correct
By observation we find that no party increased
its vote share in every succeeding elections.

Statement D: Incorrect
In 1996 vote share of the republicans and
Democrats = (20.29 + 6.12) = 26.41%
In 2000 vote share of the republicans and
Democrats = (23.75 + 5.4) = 29.15%.
In 1996 percentage of seats of the republicans
and Democrats = (29.61 + 5.88) = 35.49%
In 2000 percentage of seats of the republicans
and Democrats = (33.53 + 6.00) = 39.53%.



Difference in the vote share = 2.74%
Difference in the percentage of the seats
= 4.04%

100.(A,C) Statement A: Incorrect
Percentage of seats obtained by Democrats
and labour together in years 1996, 1998, 2000
& in 2002 were 55.49%, 59.29%, 54.45% and
52.09% respectively. In 2002, they lost only,
4.4% but in 2000 elections, they lost 8.2%.
Hence A is incorrect.

Statement B: Correct
Vote share of the Liberals and Republicans
together in the year 1998 = 6.91%
Vote share of the Liberals and Republicans
together in the year 2000 = 6.88%
Number of seats obtained by the Liberals and
Republicans together in the year 1998 = 44.
Number of seats obtained by the Liberals and
Republicans together in the year 2000 = 34.

Statement C: Incorrect
Difference in the number of seats won by
Independents in 2000 and 1998 = +6
Difference in the number of seats won by Labour
in 2000 and 1998 =  –43
Difference in the number of seats won by
Republican in 2000 and 1998 =  –4

Difference in the number of seats won by
Liberals in 2000 and 1998 = –6

Difference in the number of seats won by
Democrats in 2000 and 1998 = –21

Statement D: Correct
Number of seats won by Labour party in the
year 1996 = 132
Number of seats won by Labour party in the
year 1998 = 148
Number of seats won by Labour party in the
year 2000 = 105
Number of seats won by Labour party in the
year 2002 = 165

For questions 101 and 102:

101. (A, D) Statement A: Correct.

 Gap Rank 
North America -7.3 6 
Latin America 9.9 3 
Central and 
Eastern Europe 

11.6 2 

Western Europe -1.4 5 
Africa 14.4 1 
Asia 2.6 4 
 

Rank of Central and Eastern Europe is second.

Statement B:  Incorrect (The highest
percentage change in exports was highest in
the year 2000)

Year Average Annual 
Percentage Change 

1997 5.03333333 
1998 - 3.85 
1999 4.716 
2000 18 
2001 -3.61666 
2002 3.5666 
2003 16.5 

 

Statement C: Incorrect (Rank of Asia is
third)

 Gap Rank 
North America 0.2 5 
Latin America -1.5 4 
Central and Eastern 
Europe 

-5.9 2 

Western Europe 2.5 6 
Africa -10.6 1 
Asia -1.7 3 

 
Statement D: Correct
The lowest change, whether (increase or
decrease) is observed in year 1998 at
–0.45.

Year Average Annual 
Percentage Change 

1997 6.98333 
1998 -0.45 
1999 0.51666 
2000 13.1 
2001 -3.4 
2002 -2.9333 
2003 16.1833 

 

102.(C,D) Statement A: Incorrect
North American region average annual
percentage change in exports is 2.25 is less
than the average annual percentage change in
exports of Latin America which is 6.3.

Statement B: Incorrect



Regions Average Annual 
Percentage 
Change 

North America 10.9 
Latin America 9.375 
Central and 
Eastern Europe 

1.7 

Western Europe 3.45 
Africa 1 
Asia 4.15 
  

 

Africa region experienced the lowest average
annual percentage change in imports as
compared to other regions.

Statement C: Correct

In the year 1999-2000 Central and Eastern
European region experienced a jump of 26.1
which is the highest across all companies in any
of the given years.

Statement D: Correct

In the year 2000-2001 Asian region suffered the
maximum slump which is 30.1 and it is the
highest across all companies in any of the given
years.

For questions 103 to 106:

103.( A,C) A. Correct
Growth rate of female population during 2005-
2010
 =  (3360 – 3189) / 3189 × 100 = 5.3%
Growth rate of male population during 2010-
2015 = (3559 – 3403) / 3403 × 100 = 4.5%

B. Incorrect
Growth rate of population of high income
countries during 2005-2010 = 17 / 980 × 100 =
1.73%
Growth rate of male population in East asia and
Pacific during 2010-2015 = 36 / 1001 × 100 =
3.59%

C. Correct
Growth rate of male population in low income
countries during 2005-2010 = (1438 – 1330) /
1330 × 100 = 8.12%
Growth rate of female population in low income
countries during 2005-2010 = (1400 – 1294) /
1294 × 100 = 8.19%
D. Incorrect

Growth rate of world population during 2005-
2010 = (6764 – 6418) / 6418 × 100 = 5.39%
Growth rate of world population during 2010-
2015 = (7096 – 6764) / 6764 × 100 = 4.90%

104.(A,B,D) A. Incorrect
Share of high income countries in total world
population in 2005 = 980 / 6418 × 100 = 15.26%
Share of high income countries in total female
population in 2005 = 497 / 3189 × 100 = 15.58%

B. Incorrect
Share of Europe and central Asia in total male
population in 2005 = 229 / 3230 × 100 = 7.08%
Share of Europe and central Asia in total male
population in 2010 = 229 / 3403 × 100 = 6.73%
Share of Europe and central Asia in total male
population in 2015 = 230 / 3569 × 100 = 6.44%

C.Correct
Share of middle income countries in total female
population in 2015 = 1512 /3528 × 100 = 42.85%
Share of low income countries in total world
population in 2010 = 2838 /6764 × 100 = 41.95%

D. Incorrect
Share of south Asia in total Female population
in 2015 = 821/3528 × 100 = 23.27%
Share of south Asia in total world population in
2010 = 1581/6764 × 100 = 23.37%

105.(A) A. Correct
Share of high income countries in total female
population in 2005 = 497/3189 × 100 = 15.58%
Share of high income countries in total female
population in 2010 = 505/3360 × 100 = 15.02%
Share of high income countries in total female
population in 2015 = 511/3528 × 100 = 14.48%



Share of high income countries in total male
population in 2005 = 483/3230 × 100 = 14.95%
Share of high income countries in total male
population in 2010 = 491/3403 × 100 = 14.42%
Share of high income countries in total male
population in 2015 = 497/3569 × 100 = 13.92%

B. Incorrect
Growth rate of population of high income
countries during 2010-2015 = (1008 – 997) /
997 × 100 = 1.10%
Growth rate of world population during 2010-
2015 = (7096 – 6764) / 6764 × 100 = 4.90%

C.Incorrect
Share of Share of South Asia’s females in total
world population in 2005 = 715 / 6418 × 100 =
11.14%
Share of South Asia’s females in total world
population in 2015 = 821 / 7096 × 100 = 11.56%
Share of South Asia’s females in total female
population in 2005 = 715 / 3189 × 100 = 22.42%
Share of South Asia’s females in total female
population in 2015 = 821 / 3528 × 100 =
23.27%

Growth rate of Share of South Asia’s females
in total world population during 2005-2015 =
(11.56–11.14)/11.14 × 100 = 3.77%
Growth rate of Share of South Asia’s females
in total female population during 2005-2015 =
(23.27–22.42)/22.42 × 100 = 3.79%

D.Incorrect
Growth rate in population of middle income
countries during 2010-2015 = (3040 – 2928) /
2928 × 100 = 3.82%
Growth rate in population of middle income
countries during 2005-2010 = (2928 – 2814) /
2814 × 100 = 4.05%
Growth rate in population of high income
countries during 2010-2015 = (997 – 980) /
980 × 100 = 1.73%
Growth rate in population of high income
countries during 2005-2010 = (1008 – 997)/
997 × 100 = 1.10%

106.(A,C) A Incorrect
Share of south Asia in total world population
in 2005 = 1470/6418 × 100 = 22.90%
Share of south Asia in total world population
in 2015 = 1684/7096 × 100 = 23.73%
Share of low income countries in total world
population in 2005 = 2624/6418 × 100 =
40.88%

Share of low income countries in total world
population in 2015 = 3048/7096 × 100 =
42.95%
(23.73–22.90) < (42.95 – 40.88)

B.Correct
Share of high income countries in total female
population in 2010 = 505/3360 × 100 =
15.02%
Share of high income countries in total female
population in 2015 = 511/3528 × 100 =
14.48%
Share of high income countries in total world
population in 2010 = 997/6764 × 100 =
14.73%
Share of high income countries in total world
population in 2015 = 1008/7096 × 100 =
14.20%

C. Incorrect
Growth rate of female population in East Asia
and Pacific region during 2010–2015 =
(1001–963)/963 × 100 = 3.94%
Average annual growth rate = 3.94/5 = 0.79%
Growth rate of female population in South
Asia region during 2010-2015 = (821–769)/
769 × 100 = 6.76%
Average annual Growth rate = 1.35%

D. Correct
Growth rate of female population in Europe
and Central Asia during 2005-2015 = 1/248 ×
100 = 0.40%
Growth rate of male population in Europe and
Central Asia during 2005–2015 = 1/229 × 100
= 0.43%


